
Grunnlaget for Simpsons metode
(fra forelesningen mandag 19. september kl. 0815–1000)
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Påstand:

∫ h

−h

(
Ax2 + Bx + C

)
dx

=
h

3

(
y0 + 4y1 + y2

)

Bevis:

x = −h : y0 = Ah2 −Bh + C

x = 0 : y1 = C

x = h : y2 = Ah2 + Bh + C


 =⇒

C = y1 (1)
y0 + y2 = 2Ah2 + 2C
2Ah2 = y0 + y2 − 2y1 (2)

∫ h

−h

(
Ax2 + Bx + C

)
dx =

[
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]h
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h3 + 2Ch

=
h
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(
2Ah2 + 6C

) (
setter inn (1) og (2)

)

=
h

3

(
(y0 + y2 − 2y1) + 6y1

)
=

h

3

(
y0 + 4y1 + y2

)


